( Installation Manual:;

LOFT #4 - "BIG WHEEL" J

wwey+H

188mm O%
1 y”

0

o

D L
20mm 153mm
100mm 73mm
150mm 63mm

! 1
. @ M\1\“““1\]\]\]\\\]\\\WE
1

1

M8x90(x5)
[S—rrrssn 5
@8 L
gy
=27

M10x35 (x 4) ;
bolts for 15-20mm door 7 Oy

Ap

M10x55 (x 4)
bolts for 35-40mm door

©))) D)) ;

M10x60 (x 4) |
bolts for 40-45mm door (x2)










	页 1
	页 2
	页 3

